CLASS : 10th (Secondary) Code No. 4807
Series : Sec. M/2020

SET : A

L IEISERCEI MAP

SOCIAL SCIENCE

Roll No.

(History, Political Science, Geography and Economics)
(Academic/Open)
[~ wd il wread |
[ Hindi and English Medium ]
(Only for Fresh Candidates)
g : 3 gU2 ] [ g% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° FYT T FW T fF 5T FeT-YF 7 JET 7O 16 T F9T
35 &
Please make sure that the printed pages in this

question paper are 16 in number and it contains
35 questions.

» g97-UF 7 e & & I /Y T4 e TR 7Ol G @
B Fi-Ji&iel & Jeg-9% 97 [rd)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

4807/(Set : A) P.T.O.



(2) 4807/(Set : A)

® YUY 97 # FAV [VGT @ F7 G U, J9T H BB
T [T

Before beginning to answer a question, its Serial

Number must be written.
o FTv-gikTeEl % & 4 @l I/ 91 T 8ig)
Don’t leave blank page/pages in your answer-book.

o Fuv-YRaE & SaRE #HF o e TE& A o
STTEAGA & frd St frar gav 7 #ie

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o gOETlf STy U To FIT-9F gT 3asT @)

Candidates must write their Roll Number on the

question paper.

» UF 7] # FV &7 @ Y4 I8 GIRET &V o [ FIT-TH
g7 7 el & gher # I 30 a9 7 FHg A @
B TE] [T T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4807/(Set : A)



(3) 4807/(Set : A)

T {3 -

General Instructions :

() @ g7 SEard &

All questions are compulsory.

(i) @ F7 % 6% I G T T 8
Marks of all the questions are shown against

them.

(iii) [l 797 % @H G & FAX 0F T G qrE- A
foray

Attempt all parts of a question together.

(iv) 1 o/%F G J9% J97 F 7T TF JaT @ 3w 7
&l

Answer to each question carrying 1 mark

should not exceed more than one sentence.

(v) 2 S# T FEF F97 F IaT 30 I=I & AT T
&l

Answer to each question carrying 2 marks

should not exceed 30 words.

4807/(Set : A) P.T.O.



(4) 4807/(Set : A)

(i) 3 S T HA9% F9T F IIT 40 @ 60 =] @
e T &l

Answer to each question carrying 3 marks

should not exceed 40 to 60 words.

(vii) 6 IF FIT FE% FI7 F 7T 100 & 125 I @
Sfe@E T &l

Answer to each question carrying 6 marks

should not exceed 100 to 125 words.

(viii) F97 T&IT 8 TF 28 & [T [T T4 9T % Ia@r
HERA @ Y GOT-GikawEl & @ oa9d G
FIor)

You must attach the given outline map of
India for Question Nos. 8 and 28 along with

your answer book.

(ix) P99 FEEA G ST TAC-Gead N FHE 7T
feifer

You must write your Answer Book Sr. No.

on the map.

4807/(Set : A)



(5) 4807/(Set : A)
[ Sfcerd | [M. M :20

[ HISTORY |

1. -9 1 8 7 1

What is a nation-state ?

2. frafofad & & - geq SEEA Tl @ a9 @ #@

Tl PR 8 7 1
(1) -t B (@) dtea B
(|) <i-dAfea B (&) 2R e

Which of the following was the world's first mass

production car ?
(a) The K-model Ford (b) The T-model Ford
(c) The C-model Ford (d) Hero Honda

3. e # fpw % M @ gEeTd @ A faed
of ? 1
The introduction of which new technology in
England angered women ?

4. =9 & YR G B W@ SEE B A1 ? 1

Who was the major producer of printing material

in China ?

4807/(Set : A) P.T.O.



(6) 4807/(Set : A)

5. 193 @& & AN | AR JARG b e awens o ? 3

What were the problems of Indian weavers at the

early 19th century ?

6. 9T § JEUT I § UBd hl eEiciEd qUgY bl Hig
7 fasread fafam 3

Explain any three features of handwritten

manuscripts before the age of printing in India.

7. WA @ F §E dReE TeEE HW qE 9 F B
foTw shidl shfwpIRgl < &40 HeH 3o 7 6

What steps did the French revolutionaries take
to create a sense of collective identity among the

French people ?
HYqT
OR

TAWE & a1 7 ord 7 ?

What is meant by the idea of Satyagraha ?

4807/(Set : A)



(7) 4807/(Set : A)

8. U W gwg & W@ AMRE W iRad & &
M

On the given outline map of India show the

following places :

(i)

(i1)

(i)

(iv)

4807/(Set :

a8 WM el WSl A JUH qdnE Sl 1

The place where Gandhiji organized first

Satyagraha Movement.

9E WM Tl 1860 § Uow f @i g5 f

The place where Elgin Mill was established
in 1860.

98 WM el 1918 & gl HUST HE 7oigl A
SIESENERI 1

The place where Cotton Mill workers started

movement in 1918.

I8 WH W@l Rd S % IR W Tl I

I 1

The place where General Dyer's order to

fire.

A) P.T.O.



(8) 4807/(Set : A)
(Fae ghed TheRil & fw)

(For Blind Candidates Only)
qe : [FNGT 597 BaT GIeET gl % g geT aer
83 WTUE:

The following questions are only for Blind
Candidates in lieu of Question No. 8 :

(i) TR ¥ R ¥ yeq gmne el e ? 1

Name the place where Gandhiji organized
first Satyagraha Movement.

(i) IO ©M @ W ffEw S@ 1860 o F ufvm
e T &3 1

Write the name of the place where the Elgin
Mill was established in 1860.

(i) S @M ® 99 fafgg s 1918 F T s
HIREMT AT A AR fpaT 1

Write the name of the place where Cotton
Mill workers started movement in 1918.

(iv) SH WM H T9 SABEY el WA SEX & SR
R Mol T TSl 1

Write the name of the place where General
Dyer order to fire.

4807/(Set : A)



(9) 4807/(Set : A)
[ T s [M.M:25

[ POLITICAL SCIENCE ]

9. i H AEE § W ¥ e fHH TgE @Hih

T H & ¢ 1
(1) feiecht (@) it
(®) s af (z) e

Which major social group constituted the largest

share in population of Sri Lanka ?
(a) Sinhalese (b) Sri Lankan Tamils

(¢) Indian Tamils (d) Muslims

10. 3R X T 3 GHN MR X ol ¥ fasarg

F AT A A gET FBAW © 1
(31) @gFre (@) @
(|) (7) v

A man or a woman who believes in equal rights

and opportunities for women and man is called :
(@) Communist (b) Socialist

(c) Feminist (d) Communalist

4807/(Set : A) P.T.O.



11.

12.

13.

14.

15.

16.

17.

(10) 4807/(Set : A)

AT It AR (AeAd Tede - S.P.A.) T T ? 1

What was the Seven Party Alliance ?

e qur SE= § 59 9B & 99T & 7 1

What type of society exists in Sweden and

Germany ?

IR ¥ WM R # el § Suassdl & aue
ot 2

Explain any two achievements of the Local Self

Governments in India.

AR 7 Sgeay Fae # 7 2
Why do we have a multi-party system in India ?
RIS T 1 & 2

What is a Secular State ?

G Gl q°1 Al ¥ g SHMAT Ul g R
P I BT 3

Give one similarity, and one dissimilarity

between Pressure Groups and a Movements.

bl B ATTH Al Bl == i 3

Discuss the major challenges to Democracy.

4807/(Set : A)



(11) 4807/(Set : A)
18. GHEINS A9 ToMITT ® 9 guifad &a & ° 3

How do social divisions affected Politics ? Explain.

19. UM &l & T@ A 71§ 7 ARl i 6

What are the major functions of Political Parties ?

Explain.
HYAT
OR

Yk cliehelii=reh Feediell § Gl &l el & faie
&l N g o

Explain the various forms of power sharing in

Modern Democracies.

[ e ] [M. M :20

[ GEOGRAPHY |

20. T § 999 Ae@YE & B HEA HA-Al 8 7 1
(1) e CIN
(|) & (z) oo
Which of the following is an important Rabi
crop ?
(a) Cotton (b) Wheat
(c) Paddy (d) Jute

4807/(Set : A) P.T.O.



(12) 4807/(Set : A)

21. 30 § 99 T M- HF-a1 & 7 1

22.

23.

24.

(&) wwrerEe
(@) #ere
(q) e
(3) Freee

Which of the following is the best variety of Iron-

Ore ?

(a) Haematite
(b) Magnetite
(c) Limonite

(d) Siderite

gt fope T @1 i EerEe © 7 1
Which type of natural resource is soil ?

quioTel IR AT & ? 1
What is rainwater harvesting ?

TR I &1 & ? IEMEX0T Y ARy 2

What are Basic Industries ? Give examples.

4807/(Set : A)



25.

26.

27.

28.

(13) 4807/(Set : A)

Y X WIghie 9 & URaed ¥ URYARH & o
ENIEN 2

Write the advantages of pipeline in transportation

of Petroleum and Natural Gas.

TTEEe AR fAgiFg $ad § o & i) 3

Distinguish between Anthracite and Bituminous
Coal.

ARG H aEad H Ol ® GaRer # g S 6

Describe the distribution of rice cultivation in

India.

Frefifad & gvg & @1 qERE § a9l

Marked the following on the outline map of

India :

(i) FegX S 1
Mettur Dam

(i) AR -3 B= 1

Bhilai Iron and Steel Plant
(iii) ISl T<ME 1

Kandla Sea Port

4807/(Set : A) P.T.O.



(14) 4807/(Set : A)
(3 gRed TomRE & fro)
(For Blind Candidates Only)

qie ;[T 597 e ghcelT TheREl & T 597 gy
28 % @7 4T & -

The following questions are only for Blind

Candidates in lieu of Question No. 28 :

(i) Freex sy fom o  feaq B 7 1
In which state Mettur Dam is located ?

(i) FeE dre-zad &= fFg o § Reg & ° 1

In which state Bhilai Iron and Steel Plant is

located ?

(iii) ISl <R fpg g § Rag B ? 1

In which State Kandla Sea Port is located ?

[ ST | [M. M. : 15

[ ECONOMICS |

29, ffaRad qeEl < § § 799 e & e 9 69

29T % Rufy wvg | Jsax B 7 1
(37) aivemasT (@) wiRe
(|) U@ (7) icer

4807/(Set : A)



30.

31.

32.

33.

34.

(15) 4807/(Set : A)

Which of the following neighbouring countries
has better performance in terms of human

development than India ?

(a) Bangladesh (b) Pakistan
(c) Nepal (d) Sri Lanka
Hfed &= fhl @ § 7 1

What do you mean by Organized Sector ?

a1 &7 9 7 AR 7 ? 1

Define Service Sector.
qRd ® Sue 9o o e 9 @ srel|
get ? 1

In which year Consumer Protection Act was

enacted in India ?

IR ST & | A § 7 2

What is meant by disguised unemployment ?

HAEGHAA & At HAN b T Bl ol 6d ThR
& HA & 7 qO BT 3

How does money solve the problem of double

coincidence of wants ? Explain it.

4807/(Set : A) P.T.O.



(16) 4807/(Set : A)

35. IAEA & & § Jagd &9 & 9%d How W HEAY H
qU iR 6

Write a short note on the rising importance of

the tertiary sector in production sector.

AYql
OR

A & & IR H S I IUART & &7 § A FB
Feiedl & v i)

Describe some of your duties as a consumer when

you visit a shopping complex in your locality.

4807/(Set : A)



CLASS : 10th (Secondary) Code No. 4807
Series : Sec. M/2020

SET : B

L IEISERCEI MAP

SOCIAL SCIENCE

Roll No.

(History, Political Science, Geography and Economics)
(Academic/Open)
[~ wd il wread |
[ Hindi and English Medium ]
(Only for Fresh Candidates)
g : 3 gU2 ] [ g% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° FYT T FW T fF 5T FeT-YF 7 JET 7O 16 T F9T
35 &
Please make sure that the printed pages in this

question paper are 16 in number and it contains
35 questions.

» g97-UF 7 e & & I /Y T4 e TR 7Ol G @
B Fi-Ji&iel & Jeg-9% 97 [rd)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

4807/(Set : B) P.T.O.



(2) 4807/(Set : B)

® YUY 97 # FAV [VGT @ F7 G U, J9T H BB
T [T

Before beginning to answer a question, its Serial

Number must be written.
o FTv-gikTeEl % & 4 @l I/ 91 T 8ig)
Don’t leave blank page/pages in your answer-book.

o Fuv-YRaE & SaRE #HF o e TE& A o
STTEAGA & frd St frar gav 7 #ie

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o gOETlf STy U To FIT-9F gT 3asT @)

Candidates must write their Roll Number on the

question paper.

» UF 7] # FV &7 @ Y4 I8 GIRET &V o [ FIT-TH
g7 7 el & gher # I 30 a9 7 FHg A @
B TE] [T T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4807/(Set : B)



(3) 4807/(Set : B)

T {3 -

General Instructions :

() @ g7 SEard &

All questions are compulsory.

(i) @ F7 % 6% I G T T 8
Marks of all the questions are shown against

them.

(iii) [l 797 % @H G & FAX 0F T G qrE- A
foray

Attempt all parts of a question together.

(iv) 1 o/%F G J9% J97 F 7T TF JaT @ 3w 7
&l

Answer to each question carrying 1 mark

should not exceed more than one sentence.

(v) 2 S# T FEF F97 F IaT 30 I=I & AT T
&l

Answer to each question carrying 2 marks

should not exceed 30 words.

4807/(Set : B) P.T.O.



(4) 4807/(Set : B)

(i) 3 S T HA9% F9T F IIT 40 @ 60 =] @
e T &l

Answer to each question carrying 3 marks

should not exceed 40 to 60 words.

(vii) 6 IF FIT FE% FI7 F 7T 100 & 125 I @
Sfe@E T &l

Answer to each question carrying 6 marks

should not exceed 100 to 125 words.

(viii) F97 T&IT 8 TF 28 & [T [T T4 9T % Ia@r
HERA @ Y GOT-GikawEl & @ oa9d G
FIor)

You must attach the given outline map of
India for Question Nos. 8 and 28 along with

your answer book.

(ix) P99 FEEA G ST TAC-Gead N FHE 7T
feifer

You must write your Answer Book Sr. No.

on the map.

4807/(Set : B)



(5) 4807/(Set : B)
[ Sfcerd | [M. M :20

[ HISTORY ]
1. I gl o491 o ? 1
What was Young Italy ?

2. I FA B TH TR PEs s e dwER |
HehT @ ARG X qrEel Al o 1

(37) =i+ crfdfrem (@) @t
(|) @mEr sTfRm (3) omma @A

Name the law which allowed the British

Government to restrict the import of corn :

(a) Corn Act (b) Corn Law
(c) Food Act (d) Import Law
3. SfER B o1 ? 1

Who was a Jobber ?

4. I 3 B TH TARY e IRPTE THR B RO HEh
ferepferer &3 el 1

Name the countries where the earliest kind of

printing technology was developed.

4807/(Set : B) P.T.O.



(6) 4807/(Set : B)

5. 799 59 g8 & 3W 9RG A ofEiie Swed 3 agd
ferpre fepam &R ity 3

During the First World War, industrial production

in India boomed. Give reasons.

6. SO P YEUT T B B T v JaRu 3

Mention some of the important characteristics of

printing culture of Japan.

7. Ade TFe & fa5s AN @l 1 Sfdiear off ? 6

What was the reaction of the people against the

Rowlatt Act ?
HYAT
OR

1991 Hdl & AU H HB IANUQ Al H ST By
HH B A HHeDl Pl ATAHDRT F ad I 7

Why did some industrialists in nineteenth
century Europe prioritize manual worker over

machines ?

4807/(Set : B)



(7) 4807/(Set : B)

8. U W gwg & W@ AMRE W iRad & &
aMeT

On the given outline map of India show the

following places :

(i)

(i1)

(i)

(iv)

4807/(Set :

S WM H AW gy Sl 9Rd & 9Bl «le
S G T g 1

Write the name of the place where the first

Iron and Steel Plant established in India.

I8 M el S N SErErs ol 1

The place where Jallianwala Bagh massacre

took place.

98 WM S8l RE=X 1920 # HAG H AAYS
ol 1

The place where Congress Session was held

in December, 1920.

I8 WM el 1854 § #Huel fa e g3l 1

Name the place where the Cloth Mill was
established in 1854.

B) P.T.O.



(8) 4807/(Set : B)
(e ghed qhenRil & fw)

(For Blind Candidates Only)

qie ;[T 597 e ghcelT TheREl & T 597 gy
8% T ITE -

The following questions are only for Blind

Candidates in lieu of Question No. 8 :

(i) 9 WH & 99 fGRIy T&1 9RT & 9ed dlE T
S G U g 1
Write the name of the place where the first
Iron and Steel Plant established in India.

(i) SITETaTAT SN SETEHTS el gol o ? 1

At which place Jallianwala Bagh massacre

took place ?
(i) fER, 1920 ¥ HIE & AYAAT FoT g o ? 1

Where was the Congress Session held in
December, 1920 ?

(iv) 1854 3o ¥ FHuel it el w@fd g5 off ? 1
Where was the Cloth Mill established in
1854 ?

4807/(Set : B)



(9) 4807/(Set : B)
[ T s [M.M:25

[ POLITICAL SCIENCE ]

9. o ¥ gg w9 ¥ HH-G g W Sl S & 7O

(1) = &R Sl (@) == IR SISt

(@) %= iR == (7) == o fHean

Which two languages are generally spoken in
Belgium ?

(a) French and English (b) Dutch and English

(c) French and Dutch (d) Dutch and Sinhala
10. ‘g & oG d HA A ST T fRA o Feben” A

I e He ? 1

(37) STt AB@

(3) wer M

(7) R e

(3) gxgo o aﬂﬁﬁ

'Religion can never be separated from politics.'
Who said these words ?

(a) Jawaharlal Nehru
(b) Mahatma Gandhi
(¢) Indira Gandhi
(d) W. C. Bannerji

4807/(Set : B) P.T.O.



11.

12.

13.

14.

15.

16.

17.

(10) 4807/(Set : B)

Sciiiedr & M 3 duy i e ? 1
Why did the people of Bolivia protest ?
ARG T HIF T B g5 7 1

When was Indian National Congress founded ?

S R 41 S P d @ A SaET 2

Mention two similarities between Tommie Smith

and John Carlos.

T H AREr 4§ ? 2

What is Power Sharing ?

o qHE & fod wgE g ? 2

What are public interest groups ?

ST g & Ui a9 Y UHR TEE B & ! 3

How do the political parties help in the

formation of public opinion ?

‘b TXHR U 98 TIHR 21’ AT o) 3

'Democratic Government is a Legitimate

Government'. Explain.

4807/(Set : B)



(11) 4807/(Set : B)
18. YR Ul N oA T GOV ? I W HT © 3

Why are the linguistic states created ? What are
their advantages ?

19. oI H HAfedrsll & AT soM & ¢ SolT ¢
FEH B GO BT 6

Mention the steps which can be undertaken to
improve the women's representation in politics.

AYql
OR

TR 39 @ AR SR @ Al B AR ST
TSal 81 SRR JFK HAN Bl S B

'Different countries face different kinds of
challenges.' Support the statement with suitable

examples.
[ e ] [M. M :20
[ GEOGRAPHY ]
20. =R & | HIF-81 I el 6o o 7 1
(&) e (%) wemd
(|) @ (8) ==
Which of the following is fibre crop ?
(a) Coffee (b) Jute
(c) Tomato (d) Rubber

4807/(Set : B) P.T.O.



(12) 4807/(Set : B)

21. iy THEIST IAES [T HE-A1 & ? 1

22.

23.

24.

(o) weTTE
(@) e

(|) e
(@) s

Which of the following states is the largest

producer of manganese ?
(a) Maharashtra
(b) Goa

(c) Karnataka

(d) Odisha

I TH @A AT il JaT & A Sdigl 1
Name the soil having high water retaining
capacity.

TG I H; T 7 1

What is National Park ?

ARG & AR ¢ B aRem-STa § /i Red g 7 2

Why are most of the Jute mills of India located

in West Bengal ?

4807/(Set : B)



25.

26.

27.

28.

(13) 4807/(Set : B)
AN IRAE I & e HiH-HE-41 gaEn § ? 2

What are the problems of Indian Railways today ?

i I X IR T T i) 3

Distinguish between Natural Gas and Biogas.

ARG # N EA & faawer @ aoiE b 6

Describe the distribution of wheat cultivation in

India.

Frefiad & 9Rg & 3@ qFRE T a9

Marked the following on the outline map of

India :
(i) epE a 1

Hirakud Dam

(i) TR S = 1
Vijaynagar Steel Plant
(il) TTE SN 1

Chennai Sea Port

4807/(Set : B) P.T.O.



(14) 4807/(Set : B)
(@ aRed TR 3 R)

(For Blind Candidates Only)

qie ;[T 597 e hcelT TheREl # T 597 gy
28 % @7 [T E -

The following questions are only for Blind
Candidates in lieu of Question No. 28 :

(i) 2rge g fhE T | Raq @ ° 1
In which state Hirakud Dam is located ?

(i) fooTR s &= e T H Reag B ° 1
In which state Vijaynagar Steel Plant is
located ?

(iii) A~Ts F<ME fpa WY § R ® 7 1

In which state Chennai Sea Port is situated ?

[ ST | [M.M.:15

[ ECONOMICS ]

29. HFC: 68l 39 H G fhe SMUR W EiRa
ST | & 7 1
(&) s =g o
(3) ofa @meRar &

(|) < @ @ Rafa

(3) s &=

4807/(Set : B)



30.

31.

32.

33.

34.

(15) 4807/(Set : B)
Development of country can generally be
determined by :
(a) Its per Capita Income
(b) Its average literacy rate (level)
(c) Health status of the people
(d) All of the above

IRG ¥ ‘T U SAeR Ra9” &9 qART S
g7 1

When is "National Consumer's Rights Day"

celebrated in India ?

s &5 § F AR B 7 1
What is meant by Primary Sector ?
TRA ¥ =9 & facie & b € 7 1

Why are Chinese toys popular in India ?

qg fqhE ol onfdfes faswa & o 8 ? 2

What is the difference between Human

Development and Economic Development ?

AT ST @ R R ST © 7 3

Why demand deposits considered as money ?

4807/(Set : B) P.T.O.



(16) 4807/(Set : B)

35. BT B AT AdFaR W IS a9 faudia gemEt
W U T QT 6

Give arguments on the adverse effects of

Globalization on Indian Economy.

AYAT
OR

qRd ¥ TR FREe & HRO @l e Hifi)

Explain the causes of Environment Degradation.

4807/(Set : B)



CLASS : 10th (Secondary) Code No. 4807
Series : Sec. M/2020

SET : C

L IEISERCEI MAP

SOCIAL SCIENCE

Roll No.

(History, Political Science, Geography and Economics)
(Academic/Open)
[~ wd il wread |
[ Hindi and English Medium ]
(Only for Fresh Candidates)
g : 3 gU2 ] [ g% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° FYT T FW T fF 5T FeT-YF 7 JET 7O 16 T F9T
35 &
Please make sure that the printed pages in this

question paper are 16 in number and it contains
35 questions.

» g97-UF 7 e & & I /Y T4 e TR 7Ol G @
B Fi-Ji&iel & Jeg-9% 97 [rd)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

4807/(Set : C) P.T.O.



(2) 4807/(Set : C)

® YUY 97 # FAV [VGT @ F7 G U, J9T H BB
T [T

Before beginning to answer a question, its Serial

Number must be written.
o FTv-gikTeEl % & 4 @l I/ 91 T 8ig)
Don’t leave blank page/pages in your answer-book.

o Fuv-YRaE & SaRE #HF o e TE& A o
STTEAGA & frd St frar gav 7 #ie

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o gOETlf STy U To FIT-9F gT 3asT @)

Candidates must write their Roll Number on the

question paper.

» UF 7] # FV &7 @ Y4 I8 GIRET &V o [ FIT-TH
g7 7 el & gher # I 30 a9 7 FHg A @
B TE] [T T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4807/(Set : C)



(3) 4807/(Set : C)

T {3 -

General Instructions :

() @ g7 SEard &

All questions are compulsory.

(i) @ F7 % 6% I G T T 8
Marks of all the questions are shown against

them.

(iii) [l 797 % @H G & FAX 0F T G qrE- A
foray

Attempt all parts of a question together.

(iv) 1 o/%F G J9% J97 F 7T TF JaT @ 3w 7
&l

Answer to each question carrying 1 mark

should not exceed more than one sentence.

(v) 2 S# T FEF F97 F IaT 30 I=I & AT T
&l

Answer to each question carrying 2 marks

should not exceed 30 words.

4807/(Set : C) P.T.O.
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(i) 3 S T HA9% F9T F IIT 40 @ 60 =] @
e T &l

Answer to each question carrying 3 marks

should not exceed 40 to 60 words.

(vii) 6 IF FIT FE% FI7 F 7T 100 & 125 I @
Sfe@E T &l

Answer to each question carrying 6 marks

should not exceed 100 to 125 words.

(viii) F97 T&IT 8 TF 28 & [T [T T4 9T % Ia@r
HERA @ Y GOT-GikawEl & @ oa9d G
FIor)

You must attach the given outline map of
India for Question Nos. 8 and 28 along with

your answer book.

(ix) P99 FEEA G ST TAC-Gead N FHE 7T
feifer

You must write your Answer Book Sr. No.

on the map.

4807/(Set : C)



(5) 4807/(Set : C)
[ Sfcerd | [M. M :20

[ HISTORY |

1. 1804 2o ) AN Gfedl JAHAR W & 9™ 4 I
S o ? 1

Which name was usually known for the Civil

Code of 1804 A.D. ?

2. TH ¥ -G 90 ARE & @ B U aee s

g 7 1
(s1) B (@) =%
(|) @ (7)) Rewe

Which of the following diseases proved a fatal for

the people of America ?

(@) Cholera (b) Smallpox
(c) Plague (d) Rinderpest
3. el fifeT J9 @ o fhae foRa 7 1

Who developed the first Printing Press ?

4. A BT Y ? 1

Who were the Gomasthas ?

4807/(Set : C) P.T.O.
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5. Ud 9 fagg demell & AW SRy S S -g3H & AR
T df 3T g5 Seed B AU T 142

Name any two world institutions which were
established under the 'Bretton-Woods'. Also

mention one objective of each.
6. 1941 Tl & WRAE MdT 9 W g2o €&l & TER B
1 AT ST 7 3

What were the effects of the spread of Printing

Culture on the Indian Poor Class of the nineteenth

century ?
7. TN T STEEINT SM=IGE H A9H A1 H bEAT i
foram 7 6

Why did Gandhiji decide to withdraw the Non-

cooperation Movement ?

T

OR
“1891 W& % 9T T GO d&CME BT W IgH T
N W o)

"The Port of Surat declined by the end of the

18th Century." Explain.
4807/(Set : C)
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8. Rt T grg & @ IMRA W FHREd 0 @
q9MEY -

On the given outline map of India show the

following places :

(i)

(i1)

(iid)

(iv)

4807/(Set :

€ WM Sl 1916 ¥ TSl 3 g@E e
AT 1

The place where Gandhiji organized
Satyagraha Movement in 1916.

98 FRCTE S 189 ¥ F SR W qg" T
1l 1
The Port declined by the end of the 18th
century.

I8 T SRl ‘qt @R & A6 B . 1

The place where 'Purna 'Swaraj’ was

demanded.
98 WM el STEed A<Ia 3 9% &9 o fomn
ol 1

The place where Non-cooperation Movement

turned violent.

C) P.T.0.



(8) 4807/(Set : C)
(e ghed TheRil & fw)

(For Blind Candidates Only)

qie ;[T 597 e ghcelT TheEEl & T 597 gy
8% ®&TITE -

The following questions are only for Blind
Candidates in lieu of Question No. 8 :

() 1916 # et ¥ TEWE oMM Fel @Al
oqr 7 1

Where Gandhiji organized Satyagraha
Movement in 1916 ?

(i) 9 S=mE H A9 fafew st 184 @dl | =fw
T 9gd T e 1

Write the name of the Port which was
declined by the end of the 18th Century.

(i) fFE ®F W T @RS # oA H E S P o
Where was 'Purna Swaraj' demanded ?

(iv) S8 @M & W fGRae 980 Teeanmm e A
fEqe ' o o an 1

Write the name of the place where Non-

cooperation Movement turned in to violent.

4807/(Set : C)
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[ T st [M.M:25

[ POLITICAL SCIENCE ]

9. 1970 ¥ 1993 & ¥/ dfcogq & dlag™ H fhat 9]

Henee fog T ? 1
(1) & ar (@) @9 ar
(@) I ax (7 @ )

How many times the Constitution of Belgium was
amended between 1970 to 1993 ?

(@) Two times (b) Three times
() Four times (d) One time

10. fF8 TRl 1 A AT X = feam ? 1
(31) oTEEANT ST=IEH

(@) -mRE IR STl

(6) oh-aRRE e

(7) oI afeT om=ra

Which Movement was led by Martin Luther ?
(a) Non-cooperation Movement

(b) Civil Rights Movement

() African-American Movement

(d) The Black Power Movement

4807/(Set : C) P.T.O.



11.

12.

13.

14.

15.

16.

17.

(10) 4807/(Set : C)
Rpfrepl-gfreenl (oTafd dIgl ofR Siiel) Ime ofide e
I & ga ? 1

In which year Kittiko-Hachchiko (meaning Pluck
and Plant) Movement started ?

oI ST /T 8 7 1
What is Sex Ratio ?
T @ Ao 5 Fed 8 7 2

What do you mean by Decentralization of Power ?

ARG & Al WA B BT G AN B S B 2

Mention any two demands of the women
organizations in India.

dIdlifedr & S g5 H Giee goi it 2
Describe Bolivia's water war in brief.
& T UK T H ST W FHif| 3

Distinguish between a Regional and a National
Party.

HAR Mhdiih Fae & AR I & e g
YR TH & A B A R THR H @ © 7
AT HifeTY 3

How is Myanmar facing the challenge of creating

a basic foundation to move towards a democratic
system ? Explain.

4807/(Set : C)



18.

19.

20.

(11) 4807/(Set : C)
IRA § o+l ot Afecrett w1 Rl al@ @ SeWE @R
S & AT R TR T ISl © ¢ 3

How women in India still face discrimination and
oppression in various ways ?

i 5 TR T STRE[l, PR a9 99 9
ST 8 7 6

How does democracy produce an accountable,
responsive and legitimate government ?

AYAT
OR

TS (oMl @l TG & 4R @ & a| diT
HH B == HITT

Discuss three factors that determine the
outcome of politics of social divisions.

[ S | [M. M : 20

[ GEOGRAPHY |

T A T § el el w o B 7 1
(&) eTeEm (@) omm

() werrg (z) =R

In which of the following state black soil is found ?
(a) Rajasthan (b) Assam

(c) Maharashtra (d) Haryana

4807/(Set : C) P.T.O.



21.

22.

23.

(12) 4807/(Set : C)

1 8 9 o9 ™ diFaEe & ST¥eaT Sded el
g7 1

Which of the following states is the largest

producer of Bauxite ?
(a) Rajasthan

(b) Madhya Pradesh
() Odisha

(d) Gujarat

HIF-8 HEA ST A G A TTBs Ia gedl & 0 1

Which crops are sown to increase the natural

fertility of soil ?

ST G o B 7 1

What is watershed development ?

4807/(Set : C)



24.

25.

26.

27.

28.

(13) 4807/(Set : C)

I F FAdgleh HM & §I7 SdRE dal & AW
ERIEY 2
Name four electronic goods producing centres of
India.

AR @1 § ? 2

What is Mass Communication ?

gifcas SN Aefcad Gieel § o) T HifsTy| 3

Distinguish between Metallic and Non-metallic
minerals.

ARG H 99 & Sl & AR @ g it 6

Describe the distribution of tea cultivation in
India.

Frefofad & qRg & Tar A § &9

Marked the following in the outline map of
India :

() EER TUa% St 1
Sardar Sarovar Dam

(i) GF A H= 1
Salem Steel Plant

(ili) e T=ME 1

Kochi Sea Port

4807/(Set : C) P.T.O.



(14) 4807/(Set : C)
(o R Thenfdiat & fog)

(For Blind Candidates Only)

qie ;[T 597 e hcelT TheREl # T 597 gy
28 % @7 [T E -

The following questions are only for Blind
Candidates in lieu of Question No. 28 :

(i) ¥ER Qa1 5g g ¥ g 2 ? 1
In which state Sardar Sarovar Dam is
located ?

(i) O ST b= g T § Reg 7 ? 1
In which state Salem Steel Plant is located ?

(iii) Hifea sw<ome fhe T § feg B 7 1

In which state Kochi Sea Port is situated ?

[ ST | [M.M.:15

[ ECONOMICS ]

29. fqea & AN § TGS HUEl R Fasr & q99 A
A AR @ 1
(31) T F@E™ H T
(@) wFE HuEE B G A
(|) g HuE | AEER S
(@) =@ d @ &

4807/(Set : C)



30.

31.

32.

33.

34.

(15) 4807/(Set : C)
The most common route for investments by
M.N.C. in countries around the world is to :
(a) Set up new factories
(b) Buy existing local companies
() Form partnerships with local companies

(d) None of the above

ST $ U8TE iU 3IX aRT & ? 1
fareren, Sfeex, Gt fashar, denidl
Find the odd one out any say why ?

Teacher, Doctor, Vegetable Vendor, Lawyer.

e R Fed § 7 1
What do you mean by Money ?

COPRA & #1 &9 B ? 1
Give the meaning of COPRA.

Y el T | ST ;T A B 7 2
What do you mean by Self Help Groups (SHG) ?

SUHIERT MY & [T ARG HRON Bl AT Hivw| 3

Explain the causes which are responsible for

Consumer Exploitation ?

4807/(Set : C) P.T.O.



(16) 4807/(Set : C)
35. WX A T & ARG SNl aq SFIARE SN Bt
qa I 6

Compare the formal sources and informal

sources of credit of loan in India.

AYqT
OR

Feiieter & @ig @7 o1 AR @7 AW & SR | SRy

Explain three merits and three demerits of

Privatization.

4807/(Set : C)



CLASS : 10th (Secondary) Code No. 4807
Series : Sec. M/2020

SET : D

L IEISERCEI MAP

SOCIAL SCIENCE

Roll No.

(History, Political Science, Geography and Economics)
(Academic/Open)
[~ wd il wread |
[ Hindi and English Medium ]
(Only for Fresh Candidates)
g : 3 gU2 ] [ g% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° FYT T FW T fF 5T FeT-YF 7 JET 7O 16 T F9T
35 &
Please make sure that the printed pages in this

question paper are 16 in number and it contains
35 questions.

» g97-UF 7 e & & I /Y T4 e TR 7Ol G @
B Fi-Ji&iel & Jeg-9% 97 [rd)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.
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(2) 4807/(Set : D)

® YUY 97 # FAV [VGT @ F7 G U, J9T H BB
T [T

Before beginning to answer a question, its Serial

Number must be written.
o FTv-gikTeEl % & 4 @l I/ 91 T 8ig)
Don’t leave blank page/pages in your answer-book.

o Fuv-YRaE & SaRE #HF o e TE& A o
STTEAGA & frd St frar gav 7 #ie

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.
o gOETlf STy U To FIT-9F gT 3asT @)

Candidates must write their Roll Number on the

question paper.

» UF 7] # FV &7 @ Y4 I8 GIRET &V o [ FIT-TH
g7 7 el & gher # I 30 a9 7 FHg A @
B TE] [T T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4807/(Set : D)



(3) 4807/(Set : D)

T {3 -

General Instructions :

() @ g7 SEard &

All questions are compulsory.

(i) @ F7 % 6% I G T T 8
Marks of all the questions are shown against

them.

(iii) [l 797 % @H G & FAX 0F T G qrE- A
foray

Attempt all parts of a question together.

(iv) 1 o/%F G J9% J97 F 7T TF JaT @ 3w 7
&l

Answer to each question carrying 1 mark

should not exceed more than one sentence.

(v) 2 S# T FEF F97 F IaT 30 I=I & AT T
&l

Answer to each question carrying 2 marks

should not exceed 30 words.

4807/(Set : D) P.T.O.



(4) 4807/(Set : D)

(i) 3 S T HA9% F9T F IIT 40 @ 60 =] @
e T &l

Answer to each question carrying 3 marks

should not exceed 40 to 60 words.

(vii) 6 IF FIT FE% FI7 F 7T 100 & 125 I @
Sfe@E T &l

Answer to each question carrying 6 marks

should not exceed 100 to 125 words.

(viii) F97 T&IT 8 TF 28 & [T [T T4 9T % Ia@r
HERA @ Y GOT-GikawEl & @ oa9d G
FIor)

You must attach the given outline map of
India for Question Nos. 8 and 28 along with

your answer book.

(ix) P99 FEEA G ST TAC-Gead N FHE 7T
feifer

You must write your Answer Book Sr. No.

on the map.

4807/(Set : D)



(5) 4807/(Set : D)
[ Sfcerd | [M. M :20

[ HISTORY |

1. omie-eTEnfeer & o o1 8 ? 1

What is Proto-industrialization ?

Who was the author of 'Gulamgiri' ?
(a) Raja Ram Mohan Roy

(b) Mahatma Gandhi

() Jyotiba Phule

(d) B. R. Ambedkar

3. 39 Y@ Wl & TH AT S A b THEHT R
femtar &m 1

Who was the chief architect of the unification of

the Germany ?

4807/(Set : D) P.T.O.
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4. H-77 AR ? 1
What do you mean by G-77 ?

5. e fBic a1 T&i @ BUE AT § 1295 & qE TR
ST AU 3
Woodblock print only came to Europe after
1295. Give reasons.

6. JERAE H HY THARU 3

What do you mean by 'Liberalism' ?

7. 3 WRRARE 1 S Ao [ HRoT Fere e |
HiaTT SR SR B T q99 ew@qe A & &9 J
TH BT B FAG B H GAE AN 6

Analyse the circumstances which led Gandhiji to
choose abolition of Salt tax as the most
important demand of the Civil Disobedience

Movement.
AT
OR

TeMHal & ARG dIae] WX s THEl & Tl Bt

Explain the impact of the Great Depression on
the Indian Economy.

4807/(Set : D)
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8. Rt Tt gg & @ IMRA W FHGREd 0 @l
ER B

On the given outline map of India show the

following places :

(i)

(i1)

(iii)

(iv)

4807/(Set :

I8 T Sl et T T B el 1
The place where Gandhiji violated the Salt
Law.

96 M el R, 1932 & Yo W SR U 1

The place where Pact was signed in

September, 1932.

98 M Set 1917 # S e w@fia g 1

The place where Jute Mill was established
in 1917.

98 WM el 4™, 1919 # Rocwa afufe &0 me
ERIRRI 1

The place where the Khilafat Committee was

formed in March, 1919.
D) P.T.O.



(8) 4807/(Set : D)
(Faer e Thelil & fw)

(For Blind Candidates Only)

qle ;[T 597 e gieelT qheiEEl & g 597 aegr
8% &7 W& -

The following questions are only for Blind
Candidates in lieu of Question No. 8 :

() SH WH H I9 R &1 | Weh ¥ T
P AT 1

Write the name of the place where Gandhiji
violated Salt Law.

(i) O W F AW gy SR faer, 1932 § Y
U BETEY U 1

Write the name of the place where Pact was
signed in September, 1932.

(i) S WM F W fARaT @E T8 1917 7 e
w1 g3 1
Write the name of the place where Jute Mill
was established in 1917.

(iv) @, 1919 ¥ faamea @ffa & e ®er
™7 1
Name the place where the Khilafat Committee
was formed in March, 1919.

4807/(Set : D)



(9) 4807/(Set : D)
[ T s [M.M:25

[ POLITICAL SCIENCE ]

9. HIT-T1 A WY AHL e a1l §F B [T & P 1
(&) s
(7) e
(w) et
(3) @R
Which country is a holding together federation ?
(a) India
(b) Pakistan
() Sri Lanka

(d) America

10. i 68 d T e T & 7 1
(1) 1946 (@) 1947
(@) 1948 (&) 1949

In which year Sri Lanka emerged as an

Independent Country ?
(@) 1946 (b) 1947
(c) 1948 (d) 1949

4807/(Set : D) P.T.O.



11.

12.

13.

14.

15.

16.

17.

(10) 4807/(Set : D)
22 AT H ARG GEUM B HA-A ST A @
i I 1

22 Languages are now included in which
schedule of the Indian Constitution ?

diex 9199 @9 o ? 1
Who was Peter Norman ?

U | R ? 2
What is Panchayat Samiti ?

ARG 999 & el & Uag™ # a1 o
HOT ARG T gH-FRUe o9 91 8 7 2

State any two provisions of the Indian Constitution
which makes India a Secular State ?

2000 ¥ SIlqar & @ Ju9 ) R ? 2
Why did the people of Bolivia protest in 2000 ?
T B AEE ;e § 7 3

Why is Power-sharing necessary in democracy ?

ARAE ST GIEl @ Mo B9 gl ¢ 3 g e
e 7 142

When was the BJP formed ? Mention its major
ideologies.

4807/(Set : D)
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18. 9RT # UsHifah GARI’ a1 ‘ebclitzes GaRI' & G0
I 3

Describe the 'Political reforms' or 'Democratic
reforms' in India.

19. SMYFH JT F ToWies o & 6T T@ FAE &
AT HTAT USaT & ¢ AT P 6

What are the major challenges which the Political
Parties face in the Present Era ? Explain.

AYAT
OR

S el Hl e & IR WiRed & |
M RO B FEEyel 81 ol Al HivT|

Three factors are crucial in deciding the outcome
of politics of social divisions. Explain.

[ 0 ] [M.M:20
[ GEOGRAPHY |
20. BRS Y 6 T W I g B ? 1
() F=m (3) werTd
(w) (z) ey

Hirakud Dam is constructed on which of the
following river ?

(a) Krishna (b) Mahanadi
() Kaveri (d) Godavari

4807/(Set : D) P.T.O.
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21. G99 JUAT UGIEH eS0T -1 8 1

22.

23.

24.

(3F) Jorert
(w) wewTg
(®) o
() e

Which of the following is oldest petroleum

producing state of India ?
(@) Gujarat
(b) Maharashtra

(c) Assam

(d) Goa

=BT & U $l3 g% HROT SdET 1
Write any one cause for land degradation.

gferd a7 I © ? 1

What are reserved forests ?

& IO e Fed § 7 2

What are light industries ?

4807/(Set : D)



25.

26.

27.

28.

(13) 4807/(Set : D)
IRA & el 7 A arg Ol & AW SRl 2

Name any four International Airports of India.

qIToYs SlY STaIfoTogs ot § ofY & HivE 3

Distinguish between Commercial and Non-

commercial energy.

I § T $H S B AT B quE R 6

Describe the distribution of sugarcane cultivation

in India.

Frefiad & 9 & Y@ qFRE 7 a9

Marked the following on the outline map of

India :

(i) oM gAY GFR 91 1
Rana Pratap Sagar Dam

(ii) SR SE b= 1
Bokaro Steel Plant

(iii) faemETETH ST 1

Visakhapatnam Sea Port

4807/(Set : D) P.T.O.



(14) 4807/(Set : D)
(@ aRed a3 R)

(For Blind Candidates Only)

qie ;[T 597 e hcelT TheREl # T 597 gy
28 % @7 [T E -

The following questions are only for Blind
Candidates in lieu of Question No. 28 :

(i) M YAIY AR St e w7 Rem © ° 1
In which state Rana Pratap Sagar Dam is
located ?

(i) SR ST R e o § Red § 7 1
In which state Bokaro Steel Plant is situated ?

(iii) fIemETTETT seme fhe Ty A Re@ B 7 1
In which state Visakhapatnam Sea Port is
located ?

[ ST | [M. M. : 15

[ ECONOMICS |

29. 797 ¥ § &9 % RO & ARG Al 3§ Wi 787
g7 1

(1) =M
(3) wewk afEfEt
(|@) f=

(%) W
4807/(Set : D)



30.

31.

32.

33.

4807/(Set : D)

(15) 4807/(Set : D)

The informal source of credit does not include

which one of the following ?
(@) Traders

(b) Co-operative Societies
(c) Friends

(d) Money Lenders

ST I AMH (RTI) T e I fobn T 7

(31) 2005 H () 2006

(@) 2007 # (&) 2008 #

When Right to Information Act was enacted ?
(a) 2005 (b) 2006

() 2007 (d) 2008

gy foeme 5 @eq 8 ?

What is sustainable development ?

TS o 8 Fed § 7

What do you mean by National Income ?

TEr M T A AFR TS i (2005)

H T R § 7
What is the objective of MGNREGA 2005 ?

P.T.O.



(16) 4807/(Set : D)
34. 28 9T ¥ ® & oNUEe Wl B gem B i
& & ? 3

Why we need to increase the formal sources of
credit in India ?

35. §% U 39 I rdemaw ¥ @ g MW © ? 6

What role banks played in the Economy of a

country ?

YT

OR
IWHT B IRG W U i T8 W@l H o
T

Explain the favourable effects of Globalization on

India.

4807/(Set : D)



